RN

ES:E T
Wi LA 1%
HEE AR S A M4 8k B A HtE
£
5% 3R 0% P 1M4+=6 7821148 A 308
P LA Frab TS EAE_ ¥ & 8RR

BAEZE =R
15 A RIGHE > BRI
7 A,
# 2B 1. 28 HAE R % A s ek
BRRBBEANE | 1. HERAFTATRZAE 2. EHABHEREY
FrE Y
(5= za | LoREHE 2EBHE 3 E5ES
RAUE %)

FEFER

28 R & 50% 1Fah A 50%




RREBEH I wA A2 S5 EATHT])

B
. B A B o] BExA 23 A B B
=X
13:00_ 277 2k NN 297 28 < £ 33 RL
1| 6/76x 17:00 At WA~ B RS Y KT 4
13:00- 4
2 | 6/21(3%) 17:00 P B AR | 2 E AR RELE
13:00- A
3| 6/28(z) | 17:00 FEmA SR | R AR AE
13:00- 0
- ‘ R e Y
4 7/5( < 17:00 ST A A 4R ﬁ#@%%;ﬁé 4
13:00- 1
51 7/26(> 17:00 I EAEE | RERRAANGRED E
| S pmssms | FERARAREARSLE | 4
6 8/2(/\ . AT S 8 F3 -1
i 8/9(% : AT N S F R0
13:00-
3 - , .| B SR 4
8 8/23(* 17:00 %\E/\ﬁ}gié‘/%é& ;iﬂ"Fﬁ#@%E
13:00- A
9 | 8/30(» 17:00 Bl e 0 i | LEEEEAMARE
RIE (8 36




